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Guess Paper – 2010
Class – X

Subject – Maths    
 General Instructions:

· All questions are compulsory.

· The question paper consist of 30 questions divided into three sections A, B, C and D. Section A comprises of 10 questions of one mark each, section B comprises of 5 questions of two marks each , section C comprises of 10 questions of three marks each and section D comprises of 5 questions of six marks each.

· All questions in Section A are to be answered in one word, one sentence or as per the exact requirement of the question.
· Use of calculators is not permitted. You may ask for mathematical tables, if required.
· In case of choice questions you need to attempt only one question.
· Draw figure neatly and accurate in case of constructions.
SECTION A

1. Find the largest number which divides 615 and 963 leaving remainder 6 in each case.
2. If the degree of the polynomial P(x) is n, than give the maximum number of zeros of the polynomial p(x). 
3. Find the nature of the roots of the quadratic equation 3x2 - 4√3x + 4 = 0. 

4. Find the distance of the point  (-2,4)  from origin.                       
5. In triangle ACB right angled at C, if angle A = angle B, is sine = Sin.
6. The circumference of the circle is 528 cm, and then finds its area.
7. Find the probability of getting 9 with two dice.
8. Which measure of central tendency is determined from an ogive?
9. How many parallel tangents can a circle have? 
10. The areas of two similar triangles are 100 sq cm and 49 sq cm respectively. If the altitude of the bigger triangle is 5cm, find the corresponding altitude of the other triangle.
                                                SECTION – B

11. Prove the identity :  [ sinA + cosecA]2   +  [ cosA + secA]2   = 7 + tan2A + cot2A
12. If  x is a integer such that the distance between the points   P(x,2) and Q(3,-6) is 10 units , then find x.
13. The line joining the points (2,-1) and (5,-6) is bisected at P. If P lies on the line 2x + 4y + k =0,, find the value k.
14. [image: image1.png]In  the adjoining figure, if AD,AE and BC are tangents to the circle at D,E and F respsctively, then prove that  2AD = AB + BC + C A.                             


                                      


15. From a well shuffled pack of 52 cards , black aces and black queens are  removed. From the remaining cards, a card is drawn at random. Find the probability of getting  (i) a king  (ii) a jack or a queen
                                        SECTION – C
16. Show that, if x and y are odd positive integers, then x2 + y2 is even but not divisible by y.
17. Find all zeros of the polynomial 2x4 - 3x3 - 3x2 + 6x -2, if two of its zeroes are √2 and -√2. 
18. Draw the graph of the following pair of linear equations.
2x - 3y = 12
x + 3y   = 6
      Hence find the area of the region bounded by x=0, y=0 and 2x – 3y = 12.
19. How many terms of the AP 24, 21, 18,…………..must be taken so that their sum is 78? Explain the double answer.
20. For what value of ‘m’ will the equation  2mx2-2(1+2m)x + (3+2m) =0 have real but distinct roots. When will the roots be equal?    

21. Without using trigonometric table, evaluate the following….

Sec 290         + 2cot 80 cot 170  cot 450 cot 730 cot 820  -  3(sin2 380 + sin2 520)
      Cosec 610
22. A (3, 2) and B (-2, 1) are two vertices of a triangle whose centroid   G has the co-ordinates (5/3,-1/3). Find the co-ordinates of the third vertex the triangle.

23. If ABC is an obtuse angled triangle, obtuse angled at B. If AD         CB,  prove that AC2 = AB2  + BC2  + 2 BC.BD
24. Prove that the parallelogram circumscribing a circle is a rhombus.
25. In the given fig. AOBCA represents a quadrant of a circle of radius 3.5 cm with centre O. Calculate the area of the shaded region.





SECTION -D

26. Prove that the ratio of areas of two similar triangles is equal to the ratio of squares of any two corresponding sides. Using the above theorem, If the D,E and F are the mid points of sides BC,CA and AB respectively of the triangle ABC, prove that  ar ABC : ar DEF = 4:1.
27.  An aero plane when flying at a height of 5000m above the ground passes vertically above another aero plane at an instant when the angles of elevation of the two planes from the same point on the ground are 600 and 450 respectively. Find the vertical distance between the aero planes at that instant. 
28. A bucket of height  8 cm  and made of copper sheet is in the form of a frustum of  a  right circular cone  with radii of its lower and upper ends as 3 cm and 9 cm respectively. Calculate:  

(i) The height of the cone of which the bucket is the part.

(ii) The volume of the water that can be filled in to the  bucket

(iii) The area of the copper sheet required to make the bucket. 
29. Following data relate to the marks secured by students in statistics paper. Draw ‘less than’ and ‘more than’ ogive for these data and find median from graph. 

	Marks
	0 – 5
	5 – 10
	10 – 15
	15 – 20
	20 – 25
	25 - 30
	30-35
	35-40

	No. of  students
	4
	6
	10
	10
	25
	22
	18
	5


30. A swimming pool is filled with three pipes with uniform flow. The first two pipes operating simultaneously fill the pool in the same time during which the pool is filled with third pipe alone. The second pipe fills the pool five hours faster than the first pipe and four hours slower than the third pipe. Find the time required by each pipe to fill the pool separately.
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